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Solve each problem.
1) Compare the approximate speed per hour of Boat A to Boat B.

Boat A

Time
(Hours)

Distance
Travelled

(knots)

1 10

3 19

5 29

6 35

8 44

Boat B
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Time (Hours)
10+19+29+35+44 = 137 total knots
1+3+5+6+8 = 23 total hours
137÷23 = 6.0

1+7+12+22+25 = 67 total knots
1+2+3+5+6 = 17 total hours
67÷17 = 3.9

2) Compare the approximate revolution per minute of Turbine A to Turbine B.

Turbine A

Time (Minutes) Number of Revolutions

1 58

2 111

3 162

4 215

9 475

Turbine B

2 3 4 5 7
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Time (Minutes)
58+111+162+215+475 = 1,021 total revolutions
1+2+3+4+9 = 19 total minutes
1,021÷19 = 53.7

99+150+202+253+358 = 1,062 total revolutions
2+3+4+5+7 = 21 total minutes
1,062÷21 = 50.6

1-2 50 0
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Solve each problem.
1) Compare the approximate speed per hour of Boat A to Boat B.

Boat A

Time
(Hours)

Distance
Travelled

(knots)

1 10

3 19

5 29

6 35

8 44

Boat B

1 2 3 5 6
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Time (Hours)
10+19+29+35+44 = 137 total knots
1+3+5+6+8 = 23 total hours
137÷23 = 6.0

1+7+12+22+25 = 67 total knots
1+2+3+5+6 = 17 total hours
67÷17 = 3.9

2) Compare the approximate revolution per minute of Turbine A to Turbine B.

Turbine A

Time (Minutes) Number of Revolutions

1 58

2 111

3 162

4 215

9 475

Turbine B

2 3 4 5 7
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Time (Minutes)
58+111+162+215+475 = 1,021 total revolutions
1+2+3+4+9 = 19 total minutes
1,021÷19 = 53.7

99+150+202+253+358 = 1,062 total revolutions
2+3+4+5+7 = 21 total minutes
1,062÷21 = 50.6
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